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GÃLHƒ@*ì?  A ƒÂ A = { b,  c,  d,  e } Zzg U = { a,  b,  c,  d,  e,  f } Z¤/ .1

{ a,  b,  c } (B) { a,  f } (A)

{ b,  c,  d,  e } (D) { d,  e,  f } (C)

ÅF,KMHì? ¢a¾ .2

2 × 3 (B) 3 × 2 (A)

2 × 2 (D) 3 × 3 (C)
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∞ (B) 0 (A)

1 (D) 10 (C)

§tÃªCÙ™äÅ´#Ö''''ìX .4  

(B) (A)

(D) (C)

ŠzŠgY)zZ]å'''gBbìX .5

&_.g (B) Zq-_.g (A)

eg_.g (D) Šz_.g (C)
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1 (B) 2 (A)

3 (D) 4 (C)

sŠZ],{Zû~“WzZÑiZztåƒ@*ì .7

iZztqŠ{ (B) iZzt»z (A)

iZzt� (D) iZzt‡[ (C)

%zo»w¥x™äcZEwHYäzZÑŸ‚ì .8

(B) (A)

(D) (C)

ÅF,KMHì? A Š~ˆF,®~¤̀/{ .9  

4 (B) 3 (A)

6 (D) 5 (C)
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zZV¥Áƒ@*ìX 5 ƒÂZk£°» r = 2 Zzg a = 3 Zq-yÎ~£°~ .10  

64 (B) 81 (A)

32 (D) 48 (C)

Å7HƒCì? .11  

0 (B) 2x + 2y + 2z (A)

x + y + z (D) 1 (C)

Æ_.gzV»quÿL¦¥x<X 2x 2 + 4x + 7 = 0 )zZ] .12  

(B) - 2 (A)

1 (D) + 2 (C)

Æ_.gzV»¡Hƒ@*ì x 
2 + 2x + 1 = 0 ŠzŠgY)zZ] .13  

1 (B) 0 (A)

4 (D) 2 (C)
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5 cm (B)  2 cm (A)

 15 cm (D)  8 cm (C)
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gK¥x<X

880 cm2 (B) 88 cm2 (A)

8800 cm2 (D) 8·8 cm2 (C)

ìXZyZ°ZŠ»fzZDsZ�ìX 10 ZzgQy»¬ŠZW 300 ŠzZ°ZŠ»quÿL¢[ .16  

300 (B)  100 (A)

 30 (D) 3000 (C)

Æ_.g)z~ƒD�X x 
2 + mx + 4 = 0 ÅÃ́µ76,)zZ] m .17  

6 (B) 4 (A)

10 (D) 8 (C)
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(D) (C)
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Å̧]')é ENÅßg]ì ZÞ°Š .19  

(B) (A)

(D) (C)

Ðò A gZ5�X 2 J-YäÆ C Ð B gZ5�Zzg 3 J-YäÆ B Ð A .20  

ÃYäÆ®ÿ
N§jÄƒMh�? C ÐƒDƒñ B ™

2 (B) 5 (A)

9 (D) 6 (C)
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= ƒÂQk»¬x¥Á''' r ¬xÚ  Zzg a Zq-yÎ~£°»ª¥Á .21

;gñã£°» (Corresponding) ìÔZk£°ÆpÐø zZV¥Á 10 ˆ!£°» .22

zZV¥Á'''ƒ@*ìX 10 

ÅF,KM AB ƒÂ¢a¾ n × p ÅF,KM B Zzg¢a¾ m × n ÅF,KM A ¢a¾ .23

''''ìX

»fzZD½Z�'''ìX ( x 
2 + 6x + 9 ) Zzg ( x 

2 - 9 ) .24
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Å´#ÖZEw™ä6,'''ƒ@*ìX (∑) c a 
2 + b 

2  + c 2 Zq-ZÖg .25

°æ N{»w¥x™ä»Ÿ‚'''ìX .26

p5+k,~»_.gZÔ,'''B@*ìX .27

60 »gK ∆ ABC �XZ¤/ E Zzg D ÆzVÕo AC Zzg  AB ~Zzg!*nKM ∆ ABC .28

»gK'''ƒ@*ìX ∆ADE %,T¢aƒÂ

Ë[ÆZq-I6,“WzZÑ'ç N,!*¹ŠẑV6,“WzZá%ŠVÆù·Æ)z~ƒÂQy .29

ŠẑVÆŠgxyiZzt'''ƒ@*ìX

Û¢ÆŠZ],}~ƒÐ(,}zF,ÅMð'''ƒCìX 5 cm .30 

¥ŠzâVp}» 50 ¥‚bZzg 100 ¥gc*è»ZN[™D�X 130 Zq-æg�~ .31 .III

2 ZN[™D�Âæg�~¥Å]®ZŠ¥x<X

2 œ�ÁÜgppzZá){àÃLƒVÂŠg`fsÃz+{�ÅæŠÐªCÙ<X B Zzg  A Z¤/ .32

A ∪ B (i

A ∩ B (ii

ƒÂ =  33 : 1 ~ìXZ¤/ =  ( r n  + 1 ) : 1 Zq-yÎ~£° .33 

2 Å7¥x<X r 

2 ÆŠgxy;gñãZz‰¥x<X 7 Zzg 5 .34

2 ¥x<X A-A
/

 ƒÂ Z¤/ .35
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2 Å7¥x<X n  ƒÂ   Z¤/ .36

2 Šg`fsZÞZ°ZŠÃ̃zZÞZ°ZŠÆ¤/z\~ŠgzÈ~<: .37

©')é ENÃëw¯Dƒñ¿<: .38

2

ƒX a = 8 Zzg c = 17 Å7¥x<² b ci<Zzg b ƒÂ a 

2  + b 

2 = c 2 Z¤/ .39

 2

2 ŠzgZq-`ÐŠzè¹̃k‚|#<X 8 cm Û¢ÆŠZ],}ÃQkÆ%œ/Ð v¢a 4 .40

ìXZ2ZäÅ$&ÈR»gK¥x 10 cm Zzg—~ 44 cm Zq-Z2ZäÆ‡°}»” .41

2 <X

2 Šg`fsŠØ‰¥â]ÐZq-Ri}»u¯�: .42

(25 cm = 1 cm )e::
Ã  D )¢a~(

J-E Ð 75
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J-C Ð 75

J-B Ð 50 

Ð A
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2 Šg`fsŠØ‰̂kŸÆnZ-°ÆŸ‚Å¤&<: .43

2 Š~ˆF,®&Yw~Õ¹¤/{ÅF,KMsZzg¤&<�tF,®){gzZVìc*7X .44

2 ìXZ°ZŠ¥x<X Zq-°ŠZzgQkÆ½[»quÿL¦ .45

2 ìXóóZkÒyÅŠzŠgY)zZ]¯�X -12 kH»ù· 7 LLZq-°Š»%,ZzgQkÆ .46

2 Å7¥x<X k »Zq-_.g#ƒÂ x 2 + 4x + ( k + 2 ) = 0 )zZ] .47

2 6,û»].zw¯�X Æ� .48
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úgÂVÅËq 4 Z�ÛZŠ6,ŒZq-w¯ãìXÁÐÁ 5 pZ&�X  5 %ŠZzg 8 Zq-¤/z{~ .49 .IV

3 Æ‚BXÌV¯ðY$Ë�?

3 Z’Zð)Zzw(WJñ¡~Z°ZŠÅp5+k,~Zzg£g~Z�Zs¥x<X .50

»  ( 8x 
3
 - 2x 

2
 - 53x - 39 ) Zzg ( 4x 3 - 3x 2 - 24x - 9 )

$©o-+ö
GG

G§jÐ .51

3 ¬ŠZW¥x<X

a
2
 - b

2
 - c

2
 + 2bc = 4 ( s - b ) ( s - c ) ƒÂU*"$<� a + b + c = 2s Z¤/ .52

3 ƒ@*ìX

ƒ@* BD2
 + CD

2
 = 2AC . CD ìXU*"$<� BD ⊥ AC Zzg AB = AC ~ ∆ABC .53

3 ìX

3 U*"$<�Ûzã$‹ªî EGÐŠZ],}ÃQ‰è¹̃k)z~ƒD�X .54

4 ¥x<X Zzg ƒÂ Zq-ˆ!£°~Z¤/ .55 .V

4 U*"$<�Šz!5Ò5é
II]Z¤/p)z~Z²ZztƒVÂQyÆpÐøZHqpÐƒƒD�X .56
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Û¢ÆŠzŠZ],zV6,gZ„œ�è¹̃k‚|#<XÆ%Zœ/ 2 cm Zzg 4 cm .57

4 Šzg~6,ƒVX 10 cm 

4 <X Å7¥x F,®UZzg Å .58
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